TSR

1. ‘Qag,
9 s
o Qéiél‘ R B 3
(A) Aaryy g § T R e ol
ey ual.

€ oy [Egive /‘“_) Hoan g ([@gn

(E) Not A“(‘m[llml LY HEy 2 g [agiua
2. Choose the

:lnton\'m
¥Ym of the underling word from ()
e

ainnoy,
ved that he had not caried out |

(B) surprised

(D) pleased

The i i
Captain Was Biven options.

A "
(A) enraged 1S orders,

(C) shockeq
(E) Not Attempreg
30 AlAumi sqe
QL A
i USHRAN 56 B 4 opgq.
(A) 2 Qe yagy > gy
B i
(B) AA-1w Yoyl qlg, UM v B3l asia 4 weil
(C) 52 il siiei.
D) Y AS-UA st g
(E) Not Attempted
4. DR 2l 2509 youad-l Aellug vidl oroue) g Hous 2099l ?

R’U’X!A',D 3
AT o (B) F
€) G (D) H

(E) Not Attempted

5. She has bought some cloth; she herself a dress.

(A) can going to make (B) is going to make
(C) will going to make (D) shall gone to make

(E) Not Attempted
She Sanskrit language :

6.
(A) speech, fluent (B) speaks, fluently
(C) is speaking, fluencely (D) spoke, fluence
(E) Not Attempted
7. A dasdl euus sloLsdl ?
e
(A) 411 uddl (B) Slsed
A%
(€) Rruau (D) GU
(E) Not Attempted
LSI-F|




(A) 9IRE Y™ — M[Qﬂ at \_{-«m
(C) Wl il — At e Y

(E) Not Attempted

y (A) former, latest

(C) former, latter

(E) Not Attempted
10. 02 2a0da g5 uiva A4 A,
widl 2@ uglril
1. W& s6uR
2. 39 s
30 s
4. 5414l s
(A)1-b,2-d,3-a,4-¢
(C)1-¢,2-2,3-b,4-d

(E) Not Attempted

e oA dIR i Al e LA s g Al ?

o Both the tiger and the leopard are cats; the

(B) Ay~

(D) dlufl — gLt AE 4

(B) former, later

(D) former, late

514
2. Hexy waH
wh. 54 682
¢ M2l 682

d. 3UM Geuler
(B) 1-¢,2-d,3-2,4-b
(D) 1-b,2-2,3-d,4-¢

Ao F Alz

animal is much larger than g,

1 eardA daRe, 03l A e ol 0n2i 242 613 — 2L dsuul QUEL sal 168 2 49§

oreudl.
(A) 2vi-ue
(C) 421re

(E) Not Attempted

(B) duzudl

(D) 2uRi

12 “dldl 82" Al |2l ool sut ecmi 20 8 ?

(A) U8
(C) M2-aily-uy

(E) Not Attempted

13. LII\OI"Q lhcy get,
(A) an, the
(C) an, an

(E) Not Attempted

LSI-F|
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(B) siiag

(D) wdluwr

more they want,

(B) a,an

{.L)Ll‘hm the

o
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18.

19.

L



dld

14. ‘A’ — ave-q wenel] giee —
(A) wRael
(C) 62&9[ (B) s
(E) Not Attempted (D) #-1E2
15, s eibgiyd) 3 . ;
Ny HAA 2129 iU wisll 22 Rasmi QU AL AL el ARBIRA AAd 455l
(A) s B
© ud [;m (B) Al [Ban
A
" (D) Naciella Ban
(E) Not Attempted
16. 3 2ifaq : .
LR 2N 2uda 8. Anid Qo el sa [@Qseu- 0B vWA B ?
(A) 4t + By =
2N = qqu@ (B) M + vidz = u-dd2
C -
A il (D) i + Bl = sAuew
(E) Not Attempted
1. I__ areply _ further delay.
(A) did bave, tiy Qllmust have, within
(C) must have been, with (D) must have, without
(E) Not Attempted
18, M9 giL A1 U4 s Ao & ?
(A) 2l saulde oL W 215 ua 1l (B) i Addlu, 39y, 942
(C) 3y, A, Rs-2plan (D) AAuy, 54z, 289153
(E) Not Attempted
19. I know it you spoke.
(A) can, until (B) will, until
(C) do not, till (D) did not, until
(E) Not Attempted
20. Y UYs (Dead sea) YO 7
(A) 2l eatida e U4 25 vl (B) Aldl ay vue 44l A%
(€) B4 wel 348 (D) asieiazy W2 Hedd Al Ays
(E) Not Attempted
21, y[adlA u-ga sPiaui sie A a3 Sa B ?
(A) 4l A3L4R Ad (Nageshwar Rao) (B) 4| 2H. %au%‘.ugmz (M. Jagadesh Kumar)
(C) 4l udlaL %g1 (Satish Chandra) (D) 4 4L Az (Bwu (V.S. Krishna)
(E) Not Attempted
LSI-F|] S [ P.T.O.




: A 'R aenfazii
22, sun Qe Bual ssui o auii B (el
o (A6

(A) yellazin (1) e

30. -l ez
(C) 2H[azin

(E) Not Attempted

'l ’
23 Hurry up ! The programme _ e () is over to
(A) is by to (D) is into
(C) s about to
() Not Attempted (A) 1
24, MACS-1407 g & 7 ®) ailvtell A ()1
(A) Mol 4l 2md ®) guratdl Adl A (E) N
(C) 4Gl 4dl oq il
(A
(E) Not Attempted A tC) ‘
iz, 52l. ) ¢
25 Q18w [@seiluid el Asel vaiadl [Asen 4 (E
(B) Azt "
(A) [Boug ¥ 32. A3
(D) (Bt
(C) elaugyry AB,
(E) Not Attempted (A
r -2 ?
26, oll oflud 3l 539 56 2 w2 denaued AdlS HAa B ? (©
(A) vii-wl (B) 5414l ™
33. 1
(C) oursze(y - (D) €18l (;
(E) Not Attempte (C
27. By 2050, computers many of the jobs that peopledo ____ . (¥
(A) has taken over, today (_EQ will have taken over, today 34, ¢
(C) will have took over, yesterday (D) will have taking over, everyday (
(E) NotAttempted (
28. ‘w3 i wu WRRAMR U s — ) su WS AlsU 69 d el {
(A) deud-igqisy (B) uagfaisy 3s.
© (Husasy (D) 2usue{aisy
(E) Not Attempted
29 A Guzd U] AR HelQ ey 519 44 7
A) “duyz Aug ; %.
(4) (B) sisan
C) 2AHFYL YHEY ;
(C) g (D) atiley

(E) Not Attempted

LSI-F| e - A —
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Nl e ufda Assi diou DA Al :

30.
» o
1. Al 2008 a. UULALE U2a
2. 2Rl R sh. qHEq
3 dizenilBa e, ez vzdls?
4. siellaeQl gadl d. gllena iy
(A) 1-d,2-b,3-¢c,4-a @ 1-c¢,2-d,3-b.4-a
(© 1-62-d,3-2,4-b (D) 1-d,2-¢,3-b,4-2
(E) Not Attempted
31. I___ youwhenhe back.
(A) coming, calling (B) call, come
(C) calling, coming (D) will eall, comes
(E) Not Attempted
32, DA 2uda Aollui vl orowst sdl [@Aser e ?
AB, DEF, HIJK, m STUVWX
(A) QRSTU (B) LMNO
(C) LMNOP (D) MNOPQ
(E) Not Attempted
33 1 my exercise then.
(A) shall written, soon (B) shall have written, by
(C) shall have write, soon (D) shall has written, by
(E) Not Attempted
34, el o-H ARy 8L Q3 3el] Wi g AAAUE]” — ACBHHE W3-l As 208 suL?
(A) Y5 (B) zasll
(C) sl (D) olug
(E) Not Attempted
35, “flad Yol wserit Wi — k1R il
(A) GuaL AEs1R (B) et x5
(C) ariguia A5 (D) waisull ndsR
(E) Not Attempted
36, srolla yg adld wlaeug ozl azld Y suR uig ?
(A) 2001 (B) 1998
(C) 1999 (D) 2000
(E) Not Attempted
LSI-F]| 7




aa®d’?

+of) 2| Almi 2 .
T gl 445 ot Hidfl 2472 B MESIE
37. ' B
(A) 513?{] (D) ?JLQ"“
(©) Bk
ated 2
(E) Not ,J\ucm-[ © = — ’ 1
as8. Which option 18 the sy ) (B) immoral
(A) mortal ™) po—
(C) im mortal
od
(E) Not Attempied r .
P o sfamedtordl el pudl. _ /
30, “eadisLssl ﬂl"lql' _ 3 () vtz gl [aziH s2al.
o (e A, .
@) uﬂ&mm-[am -jl 4 : oy 2l 00 ——
(C) Hul¥s sl [@iy s2Al )
(E) Not Attempted i -
40 ‘] was surprised when | heard him talk so.” is trans formed as
(A) Itisverysu rprising to hear that he talk like this.
(B) Iam surprised to hear him talk so.
(C) Twas surprised that he talk so. -
(D) 1 was surprised to hear him talk so.
(E) Not Attempted
(. A3 vuia iGreiaidl 56 i Hest ged Gent 87
(A) aion A3 28 ma, w2 1l dl HiEl . (B) 1yl ! [ya 220 a3 Qe
0) Goul 8 @4 suaat 3ai [Ranal (D) el - ullA [@agen ol upy o
b v Kt
(E) Not Attempted
o 03 wuda dvadslui siucdadl - glu d dva eudl -
2, 5, 19, 50, 500, 5000
, 5,14, 50,500, 5
(A) 5000 ®B) 5
(C) 10 D) 50
(E) Not Attempted
43, gzoiladl 25 Auui 214 wdld sedl viandlzil sl 8 ?
(A) 16 ®) 12
© 1 (D) 15
(E) Not Attempted
4. Adui Al 2ude . .
(J d 414 sl 2 eeell Well ay uslell wecl il arsedl AsdA S !
A) Héaueu .
(B) YAHA
(C) Yrano1 .
(D) 226l
(E) Not Attempted
LSI-F | 5
8 ‘

Ala (Al s

(A) Geifd %

(E) Not Aty
PEIET R

(A) 5.00.00

(C) 2.00.00

(F) Not At
L. s
(A) 1952

(Cy 1950
(E} Not s

I

(A) will-

-~

(C) wait

(E) Not

19, suza-w

AREILEE
(A) 43
(©) =+
(E) No
30. Looka
(A) is:
O s

(E) N

S R
(EVR]

O

(51!

31. “*Ha
(A)

(W)

(E)

LS1-F




A3 @A) gl As 2l 9, dui 515 %A 2l 4l ?

45.
(4) Gld x 2a-ld (B) U512 x Wi
(C) Bey x vi3d (D) Gt x usa
(E) Not Attempted
46.  MHR o 230y dlAHE A dHI3 M Sl dl dlFuzani Saan 3[ag yHfl-l et wadl wA 8’
(A) 5,00,000/- (B) 1,50,000/-
(C) 2,00,000/- (D) 4,00,000/-
(E) Not Attempted
47, ST RUHMALE Y2292 adizd-L Sel HAlsauiell sut al - 2 ¢ ?
(A) 1952 (B) 1949
(C) 1950 (D) 1951
(E) Not Attempted
48. 1___ for my friend he came.
({) will wait, unless (B) waited, until
(C) wait, still (D) had waited, still
(E) Not Attempted
49.  MRA-WBRAIU 1965 w4 19711 g tuadly A 22 weleal 2l Fafus epllst Mratie
2eueotser wall sun Brea adll i ?
(A) S5 (B) 529
(Q) “uusisl (D) ALo12516L
(E) Not Attempted
50. Look at those black clouds. It ____
(A) is going to rain (B) has gone to rain
(C) is going on rain (D) going to rain
(E) Not Attempted
51 gaui “daeiu” (ddll atis) adl2nt 5L HALH a1 AL 1A & 7
(A) ol un (B) s
(C) v (D) ¥ipdl
(E) Not Attempted
51. “Haematoma” in dog is mostly observed in which part of the body ?
(A) Toes (B) Ear
(C) Eye (D) Tail
(E) Not Attempted
LSI-F] 9 [ RTO.




Dt A BeL BMIEA W2 42 R g ailee 56 97

52.
(A) sz A2 g4 ca
(B) #3{ly
(C) 202, 208, 23,
(D) ‘et wiGy 3y
(E) Not Allcmpte(l
52.  Which of the following is world
- F ¥
(A) White leghorn  Tamous breed of poultry for egg production? 56
S i (B) Aseel ¥
D
(E) anAltemptcd PGtk
83, S gHui el 2gqu9) W lug?
(A) ule y
(B) »5d)
(©) 44
(D) widl
(E) Not Attempted
53. Mi i igher i
ilk fat percent is found higher in which of the following animal?
(A) Woman (B) Doc
(C) Ewe (D) Mare
(E) NotAtlempu-(l
54 A A ay R A Ry 1 @7
(A) &3 (B) w2l
(C) 2uy (D) &l
(E) Not Attempted
54. In which highest body temperature is observed?
|
(A) Dog (B) Poultry
(C) Cow (D) Buffalo
(E) Not Attempted
55. A 58 1ud (6lls)u sag dlsin W walad 8 7
(A) $i53% (B) w2
© il (D) ARURSR
(E) Not Attempted
. y ol 3 is : g
55.  Which of the following breed of bullock is famous for agricultural work in Gujarat ?
(A) Kankrej g
(C) Nagori (D) Tharparkar
(E) Not Attempted
| Contd.
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| uga- azdl 2 N
Dy 4 Rl e, AXUA ol wgyheg azd) 3
LA Al 524) 39

56.
(A) 1.869 53138
(C) 3.689 5318 (B) 2.680 4311
(F) Not Attempted (D) 4.689 3
Livestock population in Gujar: .
56. sujarat as per tw - :
L U\) 14568 erares wentieth live stock cencus fa
©) 4689 croves (B) 2.689 crores
(E) Not Attempted (D) 4.689 crores
e, ool A 815125 g4 Gaus w2 [
: AR GUE Szl AMUM] F0nd) 2o A7
(A) 120 Razai sndled ASR?
) (B) 30 [Bazui
(C) 60 [Bazui
(D) 90 [Baumi
(E) Not Attempted
<7. Cow-Buffalo should be bred at which ti
E at which time after calving for effici . ST
(&) within Bl v m',_ or efficient milk production:
(C) within 60 d §) sitmin S0 dinge
within avs
¥ (D) within 90 days
(E) Not Attempted
sg. DA UA G w5 Gt 2 (A walda el e (6lls) 56 97
@) 32 B) AMNa
(€) weataudl (D) zaudl
(E) Not Attempted
58. Which of the following is world famous breed of sheep for good quality of wool ?
(A) Merino (B) Corridale
(©) Patanwadi (D) Marwadi
(E) Not Attempted
50,  A-u A st 542 (523181l G Sen sul 87
] (A) 2uydels el (B) uraAlBul
(C) lluiudls HRUR (D) Adiudls e
(E) Not Attempted
59. Which of the following is the best treatment of horn cancer?
(A) Ayurvedic drugs (B) Surgery
(C) Homeopathic treatment (D) Allopathic drugs
(E) Not Attempted
LSI-F | 11
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B

o0.

ol.

6l1.

62.

o well awiln ell ?
(A) 1 (B) 2uy

(©) MR (D) g

(E) Not Attempited

Which animal do not Yuminage 2

(A) Horse (B) Cow

(C) Buffalo (D) Ox

(E) Not Attempted

Ao sl wis auygey (Rt 2oy S quud) gi51y ] ?

A) 2% 5l

( (B) usis§
(C) AR (D) oudl
(E) Not Attempied

Which fodder can not be useq forsilage Preparation ?
(A) Lucerne (B) Maize
(C) Jowar (D) Bajra
(E) Not Attempted
MOl Qe 3zqy Ry udetl ayysiag A 7
(A) 120 Bay (B) 30 [Bay
(C) 60 [Bay (D) 90 Bax

(E) Not Attempted

Pregnant cow-buffalo should be allowed to dry before how many day of calving ?

62.
(A) 120 days (B) 30 days
(C) 60 days (D) 90 days
(E) Not Attempted
63.  ugy udl2-l wewi w4 AE (Gland) 55 ¢ 7
(A) 4128 (B) Mlayzd)
(C) eizlm (D) usd
(E) Not Attempted
63.  Which is the biggest gland in the animal body ?
(A) Parotid (B) Pituitary
(C) Spleen (D) Liver
(E) Not Attempted
LSI-F) 12 | Contd.
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[au U8l (94 (World Zoonos;
nosis I)ay) 13 Uit
UK g ¢ 9

64
(A) 28 AR
©) 6 AR (B) 5o+
(E) Not Attempted (D) 6 gens§
n which day Wor :
o4 :1) s Scplemh,:d Zoonosis Day is celebraged?
(©) 6" September (B) $™ June
(E) Not Attempted (D) 6" July
s AR ARG RA ekl e 37
@A) Asllalia
(©) sl (B) »ils202214145601
(E) Not Attempted (D) $ludaryeini4
6. Which of the following is a non steroidal anti inflammatory
(A) Prednisolone atory drug?
(C) Dexamethasone (B) Oxytetracycline
(E) Not Attempted {10 Hhiepl bz
6. U Jlori Ut et 3ot 2l 8 7
(A) S84 an ekl
x S (D) ol
(E) Not Attempted
66. In which disease red color urine is passed out ?
e (B) Fascioliasis
(®) Haemorrhagic septicaemia (D) Babesiosis
(E) Not Attempted
. A gRaad w3 G e 56 67
(A) AuSacyaiil (B) Beaun ldogaAe
(©) aisllzzranasellt (D) Qrillende
(E) Not Attempted
7. Which of the following is a drug of choice for milk fever?
(A) Phenylbutazone (B Calcium borogluconate
(©) Oxytetracycline (D) P aracetamol
(E) Not Attempted
LSI-F | 13 [ P.T.0.
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65, GOMMF (A% 5121432 q afjey B 5 $3014) Wi qus sui wudy 87

2 i 271
7% i
A) 30
(A) 2UEIE (B) 4 [2ad) ( 261
’ C) =2
(€) $1d (D) Wy ( - Not
(E) Not Attempted (l",
, G . : How m#
68.  Where Gujarat Co-operagiye Mill Marketing Federation (GCMMF) head quarter is Situated? i (A) 301
(A) Anand (B) New Delhi (©) 26
(C) Karnal (D) Palanpur E) Not
(E) Not Attempted " 3
- a1 Y
69.  “UNRAAEAL™ 208 Gy 39 sy 7 - .
? 2=
(A) HsLs i
(B) [2den Cy W
(C) el (
(D) &4 (E) N
(E) Not Attempted ‘
’ Whick
69.  Word “Operation Flood™ js associated wigh = !
F
(A) Maize B) C o
astor
(C) Fish = @8
(D) Milk (E) N
(E) NolAttempmd
B . 74. weLl
70. 26 AeUlZul Y 5y vy el ez 54l vilays e 21 97 3
(A) tllugz Ay (B) Alaz 19 b
©) =
(C) duz Hy (D) s Ay (22182 gls)
1
(E) Not Attempted 5l
) ! o . How
70.  Which of the following feed is given to young one up to 8 weeks of age in egg laying birds? i
(A) Br(_)iler mash (B) Grower mash =
(C) Layer mash (D) Chick mash (starter feed) 19
- (E) Not Attempted (E)
B - 7L “s6§ 2l Gaallu’” -l 2100 el AU s uasHl (dlaill) Gow) Al WA 6 ? e o
(A) Rl (B) Aoiisdd ")
(C) wudlsisall4 (D) wll ©
(E) Not Attempted (E)
71.  “Curled Toe Paral sis” disease condition observed in chickis due to the deficienc v of which vitamin? g Ye
y. Y
(A) Niacin (B) Riboflavin (A
(C) Pyridoxine (D) Thiamine 8
(E) Not Attempted i
-—'-—._
LSI-F| 14 [ Contd. LSI -
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gl 2L Bael 0f g (A3)

(A) 304

Wiy 97

26 U2
(C} ? n) 24 q-?.

(F) Not :\1lL‘I]1|\|m| (n) 28 QQ

How many pairs of
S chromg
)Somes

tuated?
o 4 (A) 30 pair AT present iy Cow?
(C) 26 pair (B) 24 pair
(E) Not Attempted (D) 28 pair
g S WAL s flos “audqfagay NGt
(A) s A Fenel 9y ——
(©) el (B) aggy -
(E) Not Attempted (D) Szl
3. Which of the following vector is responsible for

(A) Flea r transmission of thileriosis disease?
(C) House fly (B) Mosquito

(E) Not Attempted (B Tk

qq, el GzHl AR vu Sadl Glu g 7

(A) U6 -

- A (D) #

(E) Not Attempted

74. How many number of teats are present in female camel?

(A) Eight (B) Two

(C) Four D) Six

(E) Not Attempted

75 deu 5120 22l ouani gl o usdl 201 el HA B7

A) dlzill S (B) dlziil

(C) 3 (D) 31
(E) Not Attempted
n? 7. Yellow color of cow milk is becuase of..
(A) Vitamin E (B) Vitamin C
(C) Casein (D) Carotene

(E) Not Attempted ///4
| RT.O.

15
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Q&ﬂ{i A

a. st adlotl 2 AL wlinuani wud 9 ? i (M) Lo
(A) 2l Eatidet A WAL Bls vy ) (B) 6154 ©) 54
() 42 (D) 449 (E) No
() Not Attempted 40- Inflam
76, Which animalis considered as poor man’s cow ? (A H
(A) None of the three mentioned here (B) Doe ©Fr
(C) Ewe (D) Bitch @ T
(E) Not Attempted g1. Qad
77 “RAKSHA VAC-T™ Qa1 ds-21) il 220) sy 1o Fredois 12 avuzesdi 24d 6 ? (A
(A) wdf i (B) wadlla ©
(C) - HidAL (D) usd) (E)
(E) Not Attempted $1. -
77. RAKSHA VAC-T vaccine is used for prevention of which disease ? (A).
(A) Thileriosis (B) Brucellosis «©
(C) Foot & mouth disease (D) Trypanosomiasis &
(E) Not Attempted 5 X
78, gHHL Yuucd 2 sul 425l Gory Ay wa 7 ¢
(A) azell (B) i+t (¢
(C) MidlA (D) wsll (
(E) Not Attempted S
78.  Which content in milk is mainly deficient?
(A) Fat (B) Iron
(C) Protein (D) Water
(E) Not Attempted 83.
79.  Ald-uwidl sy olumi 2053w W@ watiER 97
(A) 2l saldd Aciy (B) guull yaz
(C) 2%5l (D) Ueui divis
(E) Not Attempted 83.
79.  Which of the following is responsible for tympany in buffalo?
(A) All three mentioned here (B) Immature Jowar
(C) Lucerne (D) Iron in stomach
(E) Not Attempted
LSI-F| 16 | Contd.

14

=



Contd.

§0.

Qatii A ariul [Ead 4 sdaiyj ; WA
H2ng gy
(A) NVEIGELEY

(©) FA-uS 8 B) >dian g 2,

(E) Not Attempted ™) D29 Ay

Inflammation of gum is known as

80.
(A) Hepatitis®
(C) Pharyngitis 1) Glossitg
(E) Not Attempted M) Gingivigis
Al vyt adl o
81. 4 WALl M, g2 RELTEEETRIR (B by
(A) 2.177 5318 AL gt 2 32l 197
(B) 4. 1K
(€) 3.177 523 TR
(D) 1,177 5314
(E) Not Attempted
gl. Whatis the population of poultry in Gujarat state
(A) 2.177 crores ‘ aratstate as per twentieth census of live stock?
(BY 4177 crores
(C) 3.177 crores
(D) 1.177 crores
(E) NotAttempted
g2, AAA ATUHL 529 [l ay A woadl -l vl 56 5 7
(A) el (B) Mzl
(©) Yzl (D) g 2eus)
(E) Not Attempted
§2. Which breed of buffaloe is mostly observed in Kutch arca of Gujarat ?
(A) Banni (B) Mehsani
(C) Surati (D) Jafarabadi
(E) Not Attempted
g, Aurta oyl g Adua 045 QalH (NBAGR) § ag Hus Mizarti sul adui 20dg 9
(A) Ud212 (B) dl Eedl
(E) Not Attempted
83. Head quarter of National Bureau of Animal Genetic Ressources (NBAGR) is situated in which of
the following city ? )
(A) Pantnagar (B) Now Delht
(C) lzzatnagar (D) Kaindl
(E) Not Attempted
;2 | P.T.O.
LSI-F |
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84.

84.

85.

85.

86.

86.

87.

flazsgs (Fallaidluzila) 2o e Faun 97
(A) 8a24 (B) M292
(€) Ge (D) 2lisn2na
(E) Not Attempted

Fascioliasis (Liver fluke infection) is transmitted by...

(A) Tick (B) Mosquito
(C) Rat (D) Snail

(E) Not Attempted

et e wld B+ Been dlz2 el suug ASA 7
(A) 10 dl22 (B) 30 dle2
(C) 54122 (D) 8 dl22

(E) Not Attempted

How much quantity of water should be given to an adult cow per day ?
(A) 10 litres (B) 30 litres
(C) 5 litres (D) 8 litres

(E) Not Attempted

auumi gellls2e (Fertiliztion) Al But wrntd=-u sut susmi gal wil 97

(A) AU (B) isafa-Al

(C) uilr (D) 51
(E) Not Attempted
Fertiliztion process is observed in which part of reproductive system of cow?

(A) Uterus (B) Oviduct

(C) Vagina (D) Cervix
(E) Not Attempted

Al %=l AUU-GlHAL G2 AL 56 QoL S2dl ML 5218 (sleirdw) Ylasiad Ad@ ?
(A) ugui (B) euHi

(C) wianmi (D) el

(E) Not Attempted

Calf should be given colostrum at what rate of body weight?

16

87.
(A) 1/15 (B) 110™
(C) 1/5% (D) 1/2*
(E) Not Attempted
LSI-F | 18 [ Contd.

en,l.-“ ﬂ,;‘ AHi
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(C) el sl

88-

(E) Not Atte
pancreas is

(A) Sheep

88.

© Horse
(E) Not At
eiLhmi 2l
Ay 1230

89-

(©) 10 ul
(E) Not!
89. What is
(A) 1201
(©) 101
(E) No
0. At
(A) v
O
(E) N
90. Whic
(A) ¢
(©) !
(E)
91. wall
(&)
©
(E!
s e
(A
(«
(4]

—
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89.

90.

91

91.

i 14 dui e ol Hulg, \?

A 4
© alsl (B) sng
(E) Not Attempted (D) ga3i

pancreas 18 not seen in which of the followip
£ animal?

(A) Sheep
(Q) Horse (B) Ox
(E) Not Attempted (D) Dog
alflul aelsil unu zedl slu 8 ?
(A) 12 R 12 (Baxn
(© 10 4R 10 [Bax (B) 11 MR- 11 Ray
(E) Not Attempted (D) 9 &1 9 [Ray
What is the average gestation period for a mare ?
(A) 12 months 12 days
(C) 10 months 10 days (B) 11 months 11 days
(E) Not Attempted (D) 9 months 9 days
AL U4 claHl i galad yeu (s 54 37
S J( = . -
a;:;}%fﬁ*'i %s,ja' e (“I}*)—m e 38 /\\\\Oy S
s (D) dusid nad
(E) Not Attempted B .
Which of the following is important sign of fever in buffalo?
(A) Swelling in throat (B) Bellowing
(C) Dryness of muzzle (D) Lamness
(E) Not Attempted
wallwlui “s16a 2 1S5 oAl Aot s sz (cpang)ll uu 8 ?
(A) uaHiAal 285N (B) AaHidaLyaiRM
(C) Awadidal SRIBEL (D) AaHiAA SR BIME
(E) Not Attempted
«Fowl Typhoid” disease in bird is caused by?

(B) Salmonella pullorum

(A) Salmonella typhimurium”
ritidus ~

(C) Salmonella gallinarum (D) Salmonella ente

(E) Not A_
19 [ P.T.O.
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R MY AL Al A% B2en 250 wilans A W] vl RS2 ?

92
(A) 4-5% (B) 5-6%
(C) 1-2% (D) 2.5-3%
(E) Not Attempted
92.  How much percent of body weight should be given as dry matter to milking animals?
(A) 4-5% (B) 5-6%
(© 12% (D) 2.5-3%
(E) Not Attempted
93. g4 el a1 d sy Vil g4 17
(A) 2l eaidq Adin (B) w521l
(C) uRisHlA (D) S23lo
(E) Not Attempted
93. Which Hormone is associated with let down of milk?
(A) All three mentioned here (B) Oxytocin
(C) Thyroxine (D) Estrogen
(E) Not Attempted
94. s Aaleyart (yeuell 5ilA) 2iee 90 2l disonile O ?
(A) G Gewe (B) el Geawe
(C) 651 Gewen (D) HiA Gewrgt
(E) Not Attempted
94.  Word “Pink Revolution” is associated with ?
(}U Wool production (B) Fish production e
(C) Egg production s (D) Meat production &
(E) Not Attempted
95.  LTLT Wegud et uslaui anu 213 drwsu] wauet 3og diu 97
(A) 50° A-2134s — 30 As~s (B) 63° A-43ls — 30 312
(C) 63° A-2l3s — 30 As~s (D) 50° {4138 — 30 Q12
(E) Not Attempted
95.  In LTLT pasteurization process which combination of time & temperature is required?
(A) 50° centigrade — 30 second (B) 63° centigrade — 30 minute
(C) 63° centigrade — 30 second (D) 50° centigrade — 30 minute
(E) Not Attempted
LSI-F| 20 [ Contd.
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96-

97.

97.

) -. .
(8) HESRUAUS gl 251

ol wRER! w2 “syoill 2227 sui g
‘ AN By 1
Al ¢9 9

(A gdl

(©) (1) a4

() Not Attempted (D) =i f)

w«Cubony Test™ is performed Tor pregnancy i,

(A) Bitch Y diagnosis in wiiel, .
C) Cow (B) Fwe

( (D) Mare

() Not Attempted
sl ol A 5L ug el 230l Gewie s wiaa sui andd)
- 2 4
(A) Olll"n'talq @ ?
‘ (B) »uwic
©) sidlanst =
(D) %o
(E) Not Attempted
In Gujarat, where Animal-Bir i
nimal-Bird vaccine production institute is s
4 —— . e s situated?
) Anand
© Dantiwada
(D) Junagadh
(E) Not Attempted

OuHHl ﬂ'&“&l‘l !;l 3& é“i@& 5[‘-‘& CCHF)= 3'.Ei QRB L9 i‘ﬁ ) @ 2191 22 5144l Hlc
( 1 L l't;l Y Hsdl
‘1 ) -'i L \ \1 L 5

(B) 18 2 HAURL sl Al g2 s2all seeldl

(©) sd-uus gal gzsa

(D) ugid SEERERIERE]

(E) Not Attempted

age. Which one

o Haemarrhasic Fever (CCHF)ina vill

s died due to Cremanian Cong
ention of CCHF ?

A person ha
is given priority to prev

of the following activity
(A) Spraying of mosquito repellant
(B) Removal of baits form trees & unused houses

(C) Spraying of insecticide
(D) Vaccination against animal diseases

(E) Not Attempted
1B 1.0.
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99,

99,

100.

100.

aY &4 Gue AMdl 2uu] 46§ quq (6l13) 2w Al ol 9 7

(A) sudlay (B) 49131

(©) AR (D) sill

(E) Not Attempted
Which of the following high milk producing cow breed is found in Gujarats
(B) Dagri

(A) Shahiwal
(D) Dangi

(O) Gir
(E) Not Attempted

A1 W4 wgpaine 2eid (Bi-uguioid wizus (Un-conventional feed) 4 GEWS0L 54 87

(A) 4G ogy (B) sundl- ol

(C) sl (D) 3212 YN

(E) Not Attempted

Which of the following is an example of un-conventional feed as per animal nutrition?

(A) Wheat bran (B) Seeds of tamarind
(C) Lucerene (D) Paddy straw

(E) Not Attempted
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